Chapter Review Template

Individual Assignment due Week 4
	Question
	Work / Answer (Note: possible credit is possible if work is shown)
	For instructor use:    Answer and Points Earned Each problem is worth 5 points.

	1. Reduce each of the following rational numbers to simplest form.
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	2. Perform each of the following computations. Leave your answers in simplest form.
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	3. When working on the problem of simplifying 
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a student did the following:
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What was the error, if any?

	
	

	4. A plumber needs four sections of pipe 
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feet long. Can this be cut from a 12 foot section? 
If so, how much pipe will be left over? 
If not, why not?

	
	

	5. A Boeing 747 jet is approximately 230 ft long and has a wingspan of 195 ft. 

If a scale model of the plane is about 40 cm long, what is the model’s wingspan?
	
	

	6. The amount of gold jewelry and other products is measured in karats (K), where 24K represents pure gold. The mark 14K on a chain indicates that the ratio between the mass of the gold in the chain and the mass of the chain is 14:24.

If a gold ring is marked 18K and it weighs 0.4 oz, what is the value of the gold in the ring if pure gold is valued at $300 per oz?

	
	

	7. Paul read 20 pages of a book in 15 minutes.

(a) What is Paul’s reading rate of pages per minute?

(b) If he continues to read at the same rate, how many pages will he read in 1 hour?

	
	

	8. A car travels 55 miles per hour and a plane travels 15 miles per minute. 

How far does the car travel when the plane travels 500 miles?
	
	

	9. This season the basketball team has won 8 games and lost 4.

(a) What is the basketball team’s ratio of wins to loses? Answer should be in form of wins/losses or wins:losses or wins to losses.
(b) What is the basketball team’s ratio of wins to games played?
(c) If the basketball team continues to win at this rate, how many of the remaining 3 games can they expect to win?

	
	

	10. Michel’s class had 4 A’s, 10 B’s, 13 C’s, 8 D’s, and 2 F’s.

(a) What is the ratio of A’s to B’s? Answer should be in form of A/B or A:B or A to B.
(b) What is the ratio of F’s to total students?

	
	

	11. Solve the following for x.
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	12. Round each of the following numbers as specified.

(a) 508.576 to the nearest hundredth 

(b) 508.576 to the nearest tenth 

(c) 508.576 to the nearest hundred 

	
	

	13. Convert each of the following rational numbers to the form
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, where a and b are integers and b ≠0. Please simplify your answer. For example 50/100=1/2
(a) 0.27 

(b) 3.104 

(c) 0.24 


	
	

	14. Write each of the following in scientific notation.

(a) 5,268,000 

(b) 0.000325

	
	

	15. Solve each of the following for x, where x is a real number.
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(d) 5.2x 0.01 < 0.2x + 3.6
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	16. Wheel’s Bicycle shop advertised a bicycle for 15% off for a savings of $36. The bicycle did not sell so it was offered at a new 20% discount off the sale price.

(a) What did the bicycle sell for regularly? 

(b) What is the amount of the new discount?
	
	

	17. Two automobile dealers, A and B, had the same car which was listed at $18,000. Dealer A offered a $1200 rebate and would negotiate a further 8% discount after rebate. Dealer B offered an 8% discount and would negotiate a further $1200 rebate.

(a) Which dealer has the lowest price? 

(b) What is the lowest price?

	
	

	18. Sheryl correctly answered 85% of the questions on her 200-question biology final.

Fernando scored a 90% on his 180-question chemistry final.

(a) Who answered more questions correctly? 

(b) Who answered more questions incorrectly?

	
	

	19. Order each of the following decimals from greatest to least: 
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	20. Write each of the following in the form 
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, where a and b are integers and b has the least value possible:
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